	ПОЛУГОДОВАЯ    К.Р.                              8 КЛАСС

Вариант 1

1. Решите неравенства:

а)  3(х – 1) > 5х – 6;       б) │2х – 3│> 5
2. Решите систему неравенств:
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3. Решите уравнения:
а) (2х – 5)(х + 1) = 0    б) 
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4. Сравните:                
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Вычислите:
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6. Упростите:   

7. Исключите иррациональность из знаменателя:
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	ПОЛУГОДОВАЯ    К.Р.                              8 КЛАСС

Вариант 2

1. Решите неравенства:

а)   4(х – 2) > 6х – 4;     б) │4х + 1│≤ 11
2. Решите систему неравенств:
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3. Решите уравнения:

а) (3х + 4)(х – 2) = 0;  б) 
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4. Сравните:   
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Вычислите:
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6. Упростите:   

7. Исключите иррациональность из знаменателя:
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	ПОЛУГОДОВАЯ    К.Р.                              8 КЛАСС

Вариант 3

1. Решите неравенства:

а)  2(х + 5) > 4х – 9;     б)  │3х – 2│> 8
2. Решите систему неравенств:
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3. Решите уравнения:
а) (4х – 8)(х – 1) = 0;  б) 
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4. Сравните:                
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Вычислите:
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6. Упростите:   

7. Исключите иррациональность из знаменателя:
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	ПОЛУГОДОВАЯ    К.Р.                              8 КЛАСС

Вариант 4

1. Решите неравенства:

а)  7(х – 4) > 9х – 8;   б) │4х + 1│≤ 11
2. Решите систему неравенств:
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3. Решите уравнения:

а) (2х + 9)(х + 2) = 0; б) 
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4. Сравните:   
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Вычислите:
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6. Упростите:   

7. Исключите иррациональность из знаменателя:
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